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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or {4} that best completes each sentence.
Then mark the correct choice on your answer sheet.

1-  The police only helieved me after an evewitness —---—----—- my account of the accident.
1) displaved 2) constituted 3) corroborated 4) suspected

2-  The plan is to our -—--—---—-- advantage; we will all benefit greatly from it.
I} concurrent 2) mutual 3) devoted 4y involved

3-  Our organization is committed to pursuing its aims through peaceful ---------- . We totally
rejeet violenee as a means of political change.
1) mcans 2) instruments 3) devices 4) gadgets

4- Al parents reccive a booklet which ------—--- the school’s aims and objeetives before their
children start their first term.
1) clarilics 2) injects 3) conducts 4) notilics

3-  Increasing the state pension is a ---------- aim, but 1 don’t think the country can afford it.
1) redundant 2} diverse 3) flexible 47 laudable

6-  The primary aim in sumo wrestling is to knock your ---------- right out of the ring!
L) protagonist 2) opponent 3) reteree 4) beneficiary

7-  The cost of the damage caused by the oil --—--——-- will be around S200 million,
1) spill 2) guilt 3) damerit 4} extenl

8  Most of us - when we hear that many children spend more time watching TV
than they spend in school If's a rather scary thought.
1) withdraw 2) retreat 3] recoil 4) regress

9-  Even though he isn’t enrelled right now, Calvin says he will go to college -----—---- 3
1) creatively 2) delicalely 3) sentimentally 4} cventually

10-  You should avoid driving during the snowstorm becausc the icy roads are ---—---—--—-,
1) superlicial 2) [rigid 3) perilous 4} cautious

PART B: Cloze Test

Dircctions: Read the following passage and decide which choiee (1), (2), (3), or (4) best 1i6s cach
space. Then mark the correct choive on your answer sheet.

When it comes to visually identifving a work of art, there is no single set of values or
aesthetic traits. A Baroque painting will not necessarily (11) ---—------—- much with a
conlemporary perlomiance picee, but they are both considered art.

moshaveranetahsili.ir



moshav%gnetahsili.ir

¥ acie (Vo) 08 = liolys 5 S 5udai
(12} ———----—— th¢ scemingly indefinable nature ol art, there have always cexisted

certain formal guidelines for its aesthetic judgment and analysis. Formalism 15 a concept
in art theory (13) —--—-------- an artwork’s artistic value is determined solely by its form, or
the way (14) ——---—————_ Formalism cvaluates works on a purcly visual level, (13) --——--
medium and compositional elements as opposed to any reference to realism, context, or
content.

11- 1) share 2) be sharing 3) have shared 43 be shared

12- 1) Although 2) Despile 3) Regardless 4) However

13- 1)that 2) thatin it 3) which 4} in which

14- 1) of it made 2) made 3) how 1t is made 4) it is made

15- D)arc considered  2) considers 3) considering 4) and considcr

PART C: Reading Comprehension

Dircctions: Read the following three passapes and answer the questions by choosing the

best choice (1}, (2), (3), or (4). Then mark the correct choice on vour answer sheet.

PASSAGE 1:

Descriptive records of weather conditions exist from thousands of years BC. [lowever,
the first people to attempt to explain the science behind the weather were the ancient
Greeks. In a time when the Greek mathematicians such as Pythagoras and Fuclid were
laying down the basics ol mathematics and physics, a lew were (rying (o explain the
complicated interactions that led to weather. Perhaps the first book about weather was
written by Aristotle in about 340 BC. Entitled Meteorcfogica. it gave explanations for
many different types of weather, and was the accepted text on the matter for well over
one thousand vears. 1lowever, it had a number of inaccuracies — mostly brought about
by Aristotle’s attempt to ¢xplain everything using the interaction of the four classical
clements: carth. air, [ire and water. Nevertheless, some deseriptions within it. such as
the hydrelogical cycele. were actually quite accurate.

Weather watching and forecasting during this period remained qualitative and
imprecise. mainly making use of natural indicators. Seaweed, for example, becomes
dry and crisp when the humidity of the air is low, but hecomes limp and moist when
the air is humid and rain is more likely, Also, ping concy close when the air is humid
and open when it is dnier. Longer-range forecasts were based on. for example, the
flowering of trees or the appearance of insects.

16- Which of the following statements is true?
1) Descriptive records ol weather conditions are relatively new.
2) The [irst book about weather was wrillen by Arisiolle.
3) The first people trying to develop the science of meteorology were ancient Romans.
4y Although Pythagoras and huclid were mathematicians, they laid the basics of
meteorology.
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17-  Which of the tollowing statements is truce?
1) Aristotle’s descriptions of the hydrological cycle were correct.
2) Aristotle was in favor of weather watching in purcly quantitative terms.
3) Aristotle’s explanations about the weather were inaccurale in all cascs.
4) Aristoile’s mistake was that he ignored the inleraction ol ihe lour classical clements.

18- The word *it” in paragraph 1 refers to --—---—---—--—-,

1) the hydrological cyvele 2) water

3) tire 4) Meteorologica
19- The word “limp” in paragraph 2 is similar in meaning to -----—-----—-- :

1) severe 2) chilly 3)soll 4) foggy
20-  According to the passage, longer-range forecasts depended on -——-—---—--—--— .

1) the flowering of trees

2) the extermination of mmosquitoes

3) the interaction of only two of the classical elements
4) Euclid’s mathematical calculations

PASSAGE 2

Environmental meteorologists smdy the physical characteristics. movements, and
processes of weather, They are also concerned with how environmental problems
alfcel our weather, Their rescarch is used by many industrics, including agriculiure,
lorestry, and transportation. Government and privale envirommenial groups also rely
on their research to study climate trends such as global warming and ozone depletion.

While people have studied the atmosphere since ancient times, concermns about
environmental changes and our human contribution to these shifts is a more recent ling
of study. The most notable legislation in this arena is the Clean Air Act, originally
dralicd in 1970 (o address air pollution and smended in 1990 (o better protect and
improve air quality. The current law [ocuses on the [ollowing: reducing emissions ol
toxic air pollutants that are known to, or are suspected of, causing cancer or other
serious health problems; reducing ontdoor air pollutants that cause smog, haze, acid
rain. and envirenmental hazards; and phasing out production and use of chemicals that
destroy the carth’s ozonge layer,

Fnvironmental meteorologisis were consulted o drali this powerlul legislation,
Their rescarch points out that we are 1o blame for much of the pollutants in our
almosphere, [rom the emissions Irom our cars that we drive, 1o those discharged by our
manufacturing plants and factories.

21-  According to the passage, the industries that use the research made by environmental
meteorologisis are ——-----—--——-- i
1) aquaculture, mining, and transportation
2} agriculture. forestry, and defense
3) aquaculiure, mining, and delense
4) agriculture, lorestry, and transportation

22-  The word “Their” in paragraph 1 refers to ——--=-mm-mam- .
1) physical characteristics 2) environmental problems
3) processes of weather 4) environmental meteorclogists
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24-

26-

The climate trends the passage refers to are —-——-—-—--,

1) ozone depletion and heat waves

2) extreme preeipitation and heat waves

3) ¢global warming and ovonc depletion

4) global warming and cxireme precipilation

According to the passage, the current law based on the Clean Air Act focuses on all of
the following EXCEPT --—--—-——— 2

1} reducing outdoor air pollutants that cause smog

2) climate variability through the study ol encrgy and water cyeles

3) reducing emissions ol toxic air pollutants

4) phasing oul production and vsc ol chemicals that destroy the carth’s ozone laver
The word “discharged” in paragraph 3 is similar in meaning to —--—----ee-—-,

1) released 2) restricted 3) recveled 43 reinforced

PASSAGE 3:

The big step forward in the science of meteorology, made in the seventeenth century, was
the invention of two instruments that remain at the heart of meteorological observations
today: the thermometer and the barometer. ‘These allowed weather observers to monitor
temperature and pressure. The carlicst thermemeler, elien attributed 1o alian scicntist
Cralileo Galilel, used a number of glass spheres of a [ixed mass suspended in a [luid. Cach
sphere is designed Lo [loal al a slightly diflerent lemperature, meaning that the number ol
spheres tloating at the top gives an indication of how warm it is. Even today. such
thermometers are sold as Galileo thermometers, although their slow response to
temperature change limits their location to mantelpieces rather than weather stations.

‘The first barometer was invented by Evangelista Torricelli, another Italian scientist of
Gralileo’s cra, in 1644, His design was relerred (o as the mercury barometer — a design also
still in wse oday. Torricelll [illed a long wbe of glass with mercury, and then inverted it
into & bowl of mercury. He found that the height of the column of mercury settled at about
760 mm, and that it was atmospheric pressure pressing down on the surface of the
mercury that was holding the mercury in place.

Shortly allerwards, a number of Galilco™s students sel up a scientific socicly in
Florenge in 1657 with the aim ol carrying oul scientific investigations, One ol the
members ol the Academy, Ferdinand 11 de Medici, deploved these carly melcorological
instrumenis al a number ol locations across Europe and sel up the lirst observational
network. The scientists af the Academy also invented a number of primitive devices for
measuring other atmospheric quantitics, including a hygrometer that measured humidity
by quantilyving the amount ol condensation onlo a bucket of ice.

What docs the passage mainly discuss?

1) Galileo’s contributions to science

2} Practicality of Galileo thermometers

3) Torricelli’s contributions 1o metcorology

4y Mclcorological inventions in the 17th century
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27-

29-

30-

Which mcteorological inventions are mentioned in the passage?
1) Anemometer. barometer. and hvgrometer

2) Thermomcter, barometer, and pyranometer

3) Thermomceter, barometer, and hygromeler

4) Ancmomeier, thermometer, und pyranometer

The word “it” in paragraph 2 refers to --—---—---—--—-,

1) tube of glass 2) mercury 3) a bowl 4) a design
The word “deploved” in paragraph 3 is similar in meaning to --—-----—--—---,

1) disiribuicd 2) utilized 3) restored 4y facilitatcd
Where does the following sentence fit into the passage?

From this, he was able to monitor atmospheric pressure by observing changes in the
height of the mercury column,

1) End of paragraph | 2) End of paragraph 2
3) Lind of paragraph 3 4) Beginning ol paragraph 2
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